Consecutive Numbers

Twelve can be written as the sum of 3 consecutive numbers. 

What are they? 

Section A

Can you find 5 more numbers that can be written as the sum of 3 consecutive numbers? 

What is the biggest number you can find? 

What is the smallest number you can find?

What do you notice about each of these numbers?

Why is this the case?

Section B

Can you find 5 numbers that can be written as the sum of 5 consecutive numbers?

Section C

Can you find 5 numbers that can be written as the sum of 5 consecutive numbers and 3 consecutive numbers?

Explain Multiples and Common Multiples, Lowest Common Multiples

Method for finding lowest common multiples

Write down the largest number that divides into all of the numbers

Divide each of the numbers by this number and write them down.

Multiply all of the numbers you have written down together. This will be the LCM

Eg  3, 4

Biggest number that goes into both 
= 1  (we call this the Highest Common Factor or HCF)

3 divided by 1 



= 3

4 divided by 1 



= 4

LCM = 1x 3 x 4 = 12

Eg 15, 18

Biggest number that goes into both 
= 3  (we call this the Highest Common Factor or HCF)

15 divided by 3


= 5

18 divided by 3 


= 6

LCM = 3 x 5 x 6 = 90

Eg  8,16

Biggest number that goes into both
= 8  (we call this the Highest Common Factor or HCF)

8 divided by 8 



= 1

16 divided by 8 


= 2

LCM = 8 x  1 x 2  = 16

Puzzle 1

Find the LCM of these pairs of numbers:

1) 20 and 24

2) 9 and 15

3)  7 and 13
 4) 20 and 15

5) 30 and 48

6) 25 and 15

7) 57 and 38
 8) 30 and 20

One problem with the method I have taught you is that you need to know the largest number that divides into both of the original numbers. We call this the Highest Common Factor (or HCF). 

Euclid – who lived over 2000 years ago had a method for finding the HCF of two numbers. Here it is:
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Use this method to find the HCF of the following pairs of numbers

1) 20 and 16


2)  27 and 24


3) 60 and 48



4) 12 and 36


5) 72 and 24


6) 48 and 60

Puzzle 2

I arrange the pupils in KS2 into rows with an equal number in each row.
When I have rows of 3 I have one pupil left over.
When I have rows of 4 I have one pupil left over.                
      

When I have rows of 5 I have one pupil left over.
                    

When I have rows of 6 I have one pupil left over.

How many pupils in KS2?

Is there only one answer?

Make up a puzzle like this of you own.

Puzzle 3


Extra question from me:

What numbers less than 50 can you make? How do you make them?

Euclid’s algorithm  for finding the HCF of two integers





Step 1: Pick two numbers





Step 2: Find the difference between the two numbers to get a third number.





Step 3: Keep the two smallest numbers of the three


and cross out the third number.





Step 4: If the two numbers  you are left with are the same then this number is the HCF of the original two numbers. If not then go back to Step 2.
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